SATs Revision grids

Ratio

2 Year 6 h ioof4b 5 girls. H 3D Shapes
£ = 4= o _ ear 6 has a ratio o oys to 5 girls. How many
S 99% Of S5= boys are there if there are 90 children in Year 6

altogether? ‘

N Wyt

In one class the ratio is 6 boys to 4 girls. There A

are 10 girls in this class. How many boys are

there in this class?

Draw symbols on the blank faces so that opposite
faces have the same symbol when folded into a cube

550 x 10 = 6000-
| T ] Two- Way tables Fill in the Measurement

missing values

in the two-waly Jacob, Hima and Anton are swimming. Each length of the

Favourite pets in Class 6C table swimming pool is 50 metres.
Hamster Cat Dog Total
boys /’
: 7|4 |#,
;6
. Jacob has swum 8 lengths, Hima has swum 9 lengths and
girls 5 Anton has swum 11 lengths.
How far have they swum altogether in metres?

Total /

100-80+4%=
Which pet was the least popular among the bous? How many more lengths do they need to swim to reach

2km?
Which pet was the most popular among the girls?
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SATs Revision grids

Ratio
2 2 1 Year 6 h tio of 4 boys to 5 girls. H 3D Shapes
S = 4= or _ ear 6 has a ratio of 4 boys to 5 girls. How many
S T 4 % E . 99%of 55= 52,25 _ boys are there if there are 90 children in Year 6
altogether? 40 bOyS y: ‘

m.n ~

Ak
®

In one class the ratio is 6 boys to 4 girls. There A
are 10 girls in this class. How many boys are
there in this class?

w / Draw symbols on the blank faces so that opposite
faces have the same symbol when folded into a cube
550 x 10 = 6000- 500
' T T 1 Fill in the Measurement
TWO- Way tables missing values o o .
in the two-way Jacob, Hima and Anton are swimming. Each length of the
Favourite pets in Class 6C table swimming pool is 50 metres. =
Hamster Cat Dog Total

boys 7 7 | 4 /’

»

. Jacob has swum 8 lengths, Hima has swum 9 lengths and
girls 5 14

Anton has swum 11 lengths.

How far have they swum altogether in metres?

Totl 12 3_2‘ 1400 metres 7
. 2
100-8 0+4%= | ,
Which pet was the least popular among the boys? dog / How many more lengths do they need to swim to reach

100 - 80+16 = 2km?

Which pet was the most popular among the girls? dog 12 lengths /

100-5=95 —

res

N £ wrocee
o ../ Private
y < www.pocketprivatetutor.co.uk (= Tutor

4\



https://apps.apple.com/gb/app/pocket-private-tutor/id1482379929
https://play.google.com/store/apps/details?id=com.pocketprivatetutor.app&hl=en_GB
http://www.pocketprivatetutor.co.uk/
http://www.pocketprivatetutor.co.uk/

Would you like more revision Grids

delivered s*raig/# fo your inbox?

AAAAAAAAAA

Download the SATs revision app
(for free) and 7tyou will receive a revision

grial fo support your child every week.

Contains public sector information licensed
under the open Government Licence v2.0

£ .
/et www.pocketprivatetutor.co.uk
N



https://apps.apple.com/gb/app/pocket-private-tutor/id1482379929
https://play.google.com/store/apps/details?id=com.pocketprivatetutor.app&hl=en_GB
http://www.pocketprivatetutor.co.uk/
http://www.pocketprivatetutor.co.uk/

